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-IJIE2S 4,500 * 2285 * 12& 12,312
O TVAERZ 4,000& « 208 ~ 128 96
O TSItAl 80,000& * 1CH 80
O AskHEE= 400,000& * 1CH 400
O Xt=SXtHE AtYI 50,000& * 1CH 50
O #ZMERE=a 30,000& * 2& = 23| 120
202 Oidl 44,129 42,329 1,800
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HAF L AlE BH 8 28,224 25,584 2,640
101 el 2| 10,500 10,500 0
10 JI2ZtHI2 2 Xt 10,500 10,500 0
O 22Xz & 30,0008 * 1 = 150 4,500
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(] A2 &H| | XIH] 2,882
O At 2,400& * 818m 1,964
O =X 1,200& * 315 378
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0O Z22 s 230,000& * 128 = 23] 5,520
O JIEF RE 2 50,000& = 12& = 33 1,800
FOIHAAIH (28tH) 99,080 84,991 14,089
FOIHEHS AN 99,080 84,991 14,089
AW Y SHHFHI 99,080 64,991 34,089
101 QI ZH| 11,080 13,695 N2,615
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O =FX & A stHFY oF2 40,0003 = 43 = 332 5,280
O A3dsS 2o 40,0003 = 5H x 29! 5,800
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0 AEH StA A 78,000,000 * 14 78,000
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